N & O & AF Y A9 N A
20149 = 20l & LBES A KEXI 2N D
A REREEDY
M Z2EHEES 23
o9 2N oEEs (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
INPNR=psnls 6,592,682 6,455,214 137,468
= 494,874
< 194,867
= 5,902,941
zd=s8 23 847,768 957,182 AN 109,414
=& HEEY 680,368 680, 117 251
EE0HAM 22l 527,868 527,617 251
201 LBt A H| 501,268 497,917 3,351
01 AtR 22l bl 469,585 469,585 0
Olgets2H|] 465,980
O=ZH=EE=ES MEZRL 3,600,000& * 63 21,600
O2s .22 St 22 267,900
o M= A2 Y EXIAF 500,000& * 1253 62,500
o TVEES A 10,000,000& = 10& 100,000
o HOI=S &S A 5,400,000& ~ 1& 5,400
o JIEt EB0HH (KTX E)
100,000,000& = 14! 100,000
ogs JE Tz )y g& 21
50,000,000& * 33 150,000
OZ&EEE 21 =58 2,700,000& = 33 8,100
O¢g(soH2Z 212 1,000,0008 * 23] 2,000
O 2HESZALE Q3H(HZE) 5,000
o EZ AR (8%10) 2,000& * 1,0000H 2,000
o M XAl (20%24) 100,000 * 30JH 3,000
OZYEER JEE(sSUME2)2Y
100,000& = 70H 7,000
O EEZANHIAA 2 M EHI
125,000& * 12& 1,500
OZEBXNE AT AKX 2,880
o SAESX P (A4) 22,000 = 408t A 880
o EHFY 400,000 * 53] 2,000
O[=2&Hl] 3,605
OZTEEYRFZA ZAH|
L0000 = 591 = 103 3,605
02 332494l 31,683 28,332 3,351
Ol2E=YLHA] 31,683
oOdgZeilgrAMHAONEZ
1,000,000& = 12& 12,000
O RAANHIA Ol 1,000,000 = 12& 12,000
OBEXE XA AHA Ol 7,683
o &dsx0l2s 165,000 = fuser » 12& 1,980
o KM A 19,8003 * 24JHO0H A = 12& 5,703
202 04| 3,600 3,600 0




2AM: XA D
Ha: PHER 2§
o9l 2F oiEEe CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2L Hl 3,600 3,600 0
OFFEE & BEBA ZY0H)
150,0008 = 291 % 32 x 43| 3,600
203 € R F&d| 18,000 18,000 0
03 AIEH =& 2 F X Y| 18,000 18,000 0
ORHEBAY 2=y
18,000,000& = {14l 18,000
301 et A= 5,000 8,100 A 3,100
07 2Bl == 0 bl 5,000 8,100 A 3,100
O2EEsEBHEXxFHNWH| 250,000& * 203l 5,000
2NE DX RS 152,500 152,500 0
201 et | 152,500 152,500 0
01 AP 22| d| 152,500 152,500 0
oxEIR=Z 150,000 = 28 * 12&€ 3,600
O22Y DX 2= 50,0004 « 12 + 123 7,200
ONE VNERS 141,700
Oz 15,0008 * 130 Al = 52 * 128 11,700
O KNEX & 2tX]
8,807.56& * 300 AL » 418 = 128 130,000
2HEEE M 167,400 277,065 A 109,665
A IAAR 22t 127,500 208,500 A 81,000
201 gEt24y| 127,500 208,500 A 81,000
01 AP 22| H| 84,000 141,000 A 57,000
OYYR LML U SSHH
1,680& * 25,0008 * 23| 84,000
02 224 H| 43,500 67,500 A 24,000
Ol222=2LHAI] 43,500
OYARAAN LS LB
870 = 25,0008 * 23| 43,500
o8 22 sHA M 39,900 68,565 A\ 28,665
201 LBt Y| 37,900 45,900 A 8,000
01 AP 22| d| 34,600 42,600 A 8,000
O3 =8 HO0<2 M 12,500,000& * 2= 25,000
Ooditi2otiiet igel ¢ 900,000& = 2JH 1,800
Odltl22tuet H2el2tE 22 (32GB)
840,000& ~ 54 4,200
O2EE=BEHIAINNHHEHA 7L
800,000& = 1JH 800
OREEBEHIAIAI IIE 2¢
400,000& = 29I 800
OEHEANM T2IHD| 2 1,300,000& * 1J4 1,300
Osgaate 2l #+¢ 700,000& ~ 104 700




2AM: X

XA D
HHM: 2HEE 23
°e?: ZEEES MH (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
02 2324 3,300 3,300 0
OlZ2Z222LHA] 300
ONZE OIHY FHAES
25,0008 = 12& 300
O[ANAEZH RXHI] 3,000
O Z&d =2 &Hl SX 4l 1,500,000& * 2& 3,000
405 XH&HF S HI 2,000 10,000 A 8,000
01 A E B F S| 2,000 10,000 A 8,000
O[MMLSEFE=H|] 2,000
OSYy HIE 2UH 7
2,000,000& = 14! 2,000
NEEANES 2,531,644 2,672,864 N 141,220
== 35,000
= 2,496,644
WERI|IFEA= 2,531,644 2,672,864 N 141,220
= 35,000
= 2,496,644
AHEIR &4 270,000 277,500 ANT7,500
o= 10,000
= 260,000
308 XX SHHSOIH 270,000 277,500 ANT7,500
=} 10,000
= 260,000
06 nEJ|&0tstE2 X2 270,000 277,500 AT7,500
OA=Z0HMEHEH 9H XN&
80,000,000& * 1A 80,000
OCHME A 29 X
80,000,000& * 202 160,000
OYUHME WA ANLEXH
30,000,0000& = 1002 30,000
= 10,000
= 20,000
s s stgs K& 525,000 525,000 0]
201 et 350,000 350,000 0
01 AR 22l ] 350,000 350,000 0
ogeolotatdiol st& X
87,500,000 * 4J4 350,000
308 AMXISHMSOIA 175,000 175,000 0
06 I 20HUStEEX= 175,000 175,000 0]
OZS8D 2% 2SAL N
10,714,285& * 70 75,000
O=x=,8st gtits &5 A
10,714,285.71& » 7 75,000
O=stM AM=E sts5KE
25,000,000 * 1JH A 25,000




2AM: XA D
MM NREAES
R NKI|BIREF (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SHEXNSE FHO 2AXS 50,000 50,000 0
= 25,000
= 25,000
308 XHXIEHSOIA 50,000 50,000 0
& 25,000
= 25,000
06 EI2HUSIEEX= 50,000 50,000 0
OsZEXY 02 ZAXE
50,000,000 * 1@l 50,000
= 25,000
= 25,000
dEtd 2aZ34A & 749,814 948, 104 A 198,290
201 Bt 560 1,050 AN 490
01 AP 22| H| 560 1,050 AN 490
OHBALMSATAMNIAAAS BHL
70,000& * 13 = 8¢l 560
308 XHXIEHSOIA 749,254 947,054 A 197,800
06 m=EJ|&0tistE X2 749,254 947,054 A 197,800
OXBY 2HTA XV (XF)
147,331& = 3,180 468,513
OXBY 2HTA V(S
152,909& * 1,836Y 280,741
NESHN JI=sAHl K& 51,340 46,840 4,500
201 et | 490 840 A 350
01 AP 2t 2| H| 490 840 A 350
OFURDRBLINASAS BHEY
70,000& * 721 % 13 490
308 AMXISHMSOIA 50,850 46,000 4,850
06 nEJ|&0tstEx2 50,850 46,000 4,850
O1nNssw JI=sAH XI& 1,130,0008 * 459 50,850
WRILNMAKZ M= 490 420 70
201 gEt2Ad| 490 420 70
01 AP 22| H| 490 420 70
OFAZNEUNRAR|Z 9 EAELE
70,0008 = 7¢I 490
st 2 NEsaEXHA 120,000 320,000 A 200,000
308 AMXIESHMSOIA 120,000 320,000 A 200,000
06 BEJ|&0tistEx2 120,000 320,000 A 200,000
OANZE=W SSHXe XIS 20,000,000 * 14! 20,000
O UsEuA A8 N3
100,000,000& = 14l 100,000
HRSINEHAA 505,000 505,000 0




SH: RXERD
HH: DE=NE

SR DRIIYRS (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 XXM SO0l A 505,000 505,000 0
06 WEII20UHE2ES 505,000 505,000 0
Og=stusd SEIE
50,000,000& * 4Hetn 200,000
Oz g S4X& 20,000,000& = 2011 40,000
Og=0 gZMdgss A&
40,000,0008 * 14 A 40,000
O30 wAt XI& 45,000,000& = 59 225,000
N =LIet 2= 260,000 0 260,000
306 ¢ 2 260,000 0 260,000
01 &3 260,000 0 260,000
OgLIHEES Jlad EdH3 (=8, 252
243) 260,000,000 * 14 260,000
HMSISHM 2= 396,020 469,028 273,008
Bdsis=2d 396,020 469,028 273,008
A YIS AIEd2Y 2,000 2,000 0
201 et 2,000 2,000 0
02 2324l 2,000 2,000 0
Od=BMsrsTAg2s Haltl
2,000,000 = 14l 2,000
2192 =& OH A 19,900 22,050 A 2,150
201 L2l 4,500 5,700 A 1,200
03 &Ar2 Z I 4,500 5,700 21,200
OEEBEMH(EHIHE)
150,000& » 7& = 33l 3,150
osg ¥ 2288 74 5003 = 54001 = 53l 1,350
301 et a3z 400 1,350 A 950
07 2el=& 0 bl 400 1,350 A 950
O218 2 =xgy 2A =30l 100,000& * 43| 400
307 glz2tol & 15,000 15,000 0
04 RIZIHAIE RS 15,000 15,000 0
O219gZyd 2F A3 15,000,0008 * 1A 15,000
FESMESSMH=HN 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
02 QB AEXS 20,000 20,000 0
OZ=sMEIE =M 20,000,000 * 14 20,000
SIS ANEHS 22,000 41,858 A 19,858
201 Let24d] 20,000 21,710 A1,710
03 &AL I 20,000 20,000 0




AN XXEH D
HE: BASSHN 7S
el WASERY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od=Zdsts=NEII2Y
10,000,000& = 13l 10,000
OBMSIsAA=NEII2Y
10,000,000& * 13l 10,000
202 oddl 2,000 7,000 A5,000
01 = LH o4 1l 2,000 2,000 0
OBMSSENEI L 25T ofy|
100,000& * 221 = 103 2,000
Rt 332,120 383,120 A51,000
201 ¢er2d] 49,520 80,520 A 31,000
01 At 2t 2/l 49,520 80,520 A 31,000
O2dius Wi 2
2,000& = 1,250Q1 » 2@ 5,000
O2dHus2d AARES 7Y
10,000& * 5009! 5,000
Os28 M= 70,000 » 3604 & 2,520
O2dus 28 418 M=
40,000& * 5005 20,000
OsszMN+7g 10,000& * 4002 4,000
O2dHus2d 22357
100,000& * 60H A& 6,000
Ozcfu=sssz 29| 116,666& * 6000 A& 7,000
202 044l 2,600 2,600 0
01 = LH o4 1l 2,600 2,600 0
OgelzZoistn 2L XS Kl
20,0003 = 22! = 65 2,600
301 et d = 280,000 280,000 0
09 HALAHIE& S 280,000 280,000 0
OSdHs D st Al
1,000& » 1,500Q! » 122 » 5& 90,000
O2dus LA
19,791.66& * 16021 * 12 * 53 190,000
dESY Q=EIF 2,021,081 1,500,976 520,105
= 464,000
= 147,675
s 1,409,406
sStsd x4 1,281,750 337,500 944,250
= 464,000
< 147,675
s 670,075
HAH YSAAE RS 300,000 300,000 0
401 AIEHI L 20HEI 300,000 300,000 0
01 A& HI 300,000 300,000 0




2N

Hu: MRPSN UEARS
Sl SMEY T4 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSY 0ISYs HEAY
6,000,000& = 500t 300,000
SHEZTDEAHA YRS 48,750 37,500 11,250
< 24,375
i 24,375
402 RI2EX=201 M 48,750 37,500 11,250
< 24,375
s 24,375
02 RI2HCH & AFH HI 48,750 37,500 11,250
OsHEXNSE Z2HIANANY 2=
48,750,000& = 14! 48,750
< 24,375
e 24,375
CCTV SE2MEdH 2= 928,000 0 928,000
= 464,000
= 123,300
s 340,700
401 A& HIZ 201 I 928,000 0 928,000
= 464,000
< 123,300
s 340,700
01 A& HI 928,000 0 928,000
OCCTVS S 2 MdH == 928,000,0008 = 14! 928,000
= 464,000
= 123,300
= 340,700
S3RHAHY 2= 5,000 0 5,000
402 RIZ2EXt20l ™ 5,000 0 5,000
01 QIZERt 22X 5,000 0 5,000
ORHUHY 0IEAX o AAH
5,000,000& * 14! 5,000
FBS4 D& 739,331 1,163,476 AN 424,145
QIEHUESBH(IPT)AIAE 2= 115,000 351,000 A 236,000
401 Al HIZ 201 Y| 25,000 351,000 A 326,000
01 A& HI 25,000 351,000 A 326,000
OBHUHES(IPT)AM A R (2 3 AHR D)
25,000,000 * 14l 25,000
405 XHoHF S HI 90,000 0 90,000
01 AL ESFH S 90,000 0 90,000
OFXNFBEESEL AS3HAY WX (SW,AHE)
90,000,000& * 14l 90,000
FE2SUAE RX2e 156,493 321,689 A 165,196
201 Let249] 105,493 130,539 A 25,046




R PPN RSy

MM HmEa omepE
ool HESH DT (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 13,278 13,278 0
Olget=&Hl] 13,278
OFAXEU(Z,SYH =4l)
41,0003 = 3CH ~ 123 1,476
OEAXA II2dstI| gttlel 7
270,000& = 3CH 810
O&dstH(AHOIZ) 76,500& * 18 * 128 918
O LANZIOIE & 131,000& » 28 » 128 3,144
OLANHEEH 2¢ 45,0003 » 50 A 2,250
Og=X0ls ¥ PVCEE 153,000& * 102FA 1,530
O-UHsSA == XM 900,000& » 2004 1,800
OFUZHUSHL(LAN)S F1EFY
135,000& * 104 1,350
02 =224l 92,215 117,261 A 25,046
O[AM&E&HI S X4l 92,215
OHMNERSEY RAE=S 24,149
o ERIAEH |RXE+
155,620,000 * 6% * 1.1 10,271
oUEREY SNEx(ANA,SH)
210,258,000& = 6% * 1.1 13,878
O2d=XY RAES 10,907
o EdXA HERKIY RXNE+
81,817,000& = 6% * 1.1 5,400
o NL:HIZU(ATM) FAE=+
24,120,000& * 6% * 1.1 1,592
o HE&Hl RIS
32,620,000 » 241 » 6% 3,915
OQHUESH(IPTIAIAEYE SXE4 34,444
o BN A IEANAE RAES
10,500,000& 1741 6% 10,710
o FAXEot&EHl RAE+  450,000& » 13l 450
o 43 YHH FXNES
55,659,070& * 6% * 1.1 3,674
o OIHY AMetuwaEd| RALES
135,000,000& * 6% * 1.1 8,910
o MOF |RXIE =+ 1,750& = 2,000 & 3,500
0P YASEANAHE(Z-SH)RNES
90,000,000& * 8% 7,200
OLSTANE FANE= 8,250
o FUCATVE & FHIRXE=>
6,750,000& * 13l 6,750
o BN 2YSHH| 1,500,000& * 14 1,500
CHESHNERYE RIE=S 3,150
o PEN MAAFIX(UPS) R E=x
450,000& = 14l « 23| 900




R PPN RSy

Hu: MRPSN UEARS
el EES4A D& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o dESHA HRJ RANE=S
450,000 = 14l = 23] 900
o g2esIll & ol
675,000& = 1CH = 23] 1,350
O 2S3EHI(WPN) RXE=+ 8,615
o &s3t ZHI(VPN) RXE=
87,180, 7050NJS = 8% 6,975
0 QSERHE(HAZHN) RALBS
24,840,000% * 6% * 1.1 1,640
OCHESH MEH IMEH S+
2,700,000 = 14 2,700
202 odl 1,000 1,000 0
01 S LHOIYI 1,000 1,000 0
OFESUSAL AFZEEZ AL EE I
20,000 = 121 = 50 1,000
405 TtabF S| 50,000 180,700 A 130,700
01 et EFH S 50,000 180,700 A 130,700
OHESE RESE EZ2HA FH 7L
50,000,000& = 14l 50,000
FE2SHY 2E 2l 467,838 490,787 A22,949
201 Let24E] 467,838 474,787 N6,949
02 2324l 467,838 474,787 26,949
OlB222%LHA] 467,838
OVOIPAEHHALESAIER 270,000 = 12& 3,240
OHESUAFAX & H3 St &
225,000 « 12& 2,700
OCHUAMAGY MIEHAY 0|22
600,000& = 12& 7,200
OFUEXNS AHEZ(6CH) 450,000& » 128 5,400
OCIHUYWEMHOIX 823 MEZ
1,350,000& » 128 16,200
O e Y 3l = (ADSL, GVPN, SDSL)
31,500& » 1234 ~ 123 4,536
O &-=2t ATNZ OlEZ 1,260,000& = 123 15,120
O &4l MEHS(DIDIMEE
3,762& = 603l & * 12& 2,709
OYdptds AAE= 163,240
o AlLY 2BtM3 3tz
22.222% » 500CH = 1583t * 202 * 12 40,000
!
o A2 2Etd3s Satg
22.2223 = 500CH ~ 1583t * 20€ * 12 40,000
E=!
o0 08X Sst=
208.333&  200CH = 8= 3t * 20 * 12 80,000
!




BE .G (3) - MY - BES il &t o il
EEENEE 270,0002 * 122 3,240
Hgsld 014 28,0002 * 203 & 560
LA G AIB2 (24, B, S54A)
135,0002 = 30§ * 12¥ 4,860
MM B4, AR (BAR)
15,6928 * 1584 » 122 2,825
HEEMEM AZ2(EIS)
515,620 * 16044 * 122 99,000
HFES A3 Z Z (256Kbps)
234,000 * 7004 * 122 19,656
HBEAMSM ALEE (128Kbps)
67,5002 * 3 A * 128 2,430
OR=1=F<1-I M3 MAEER
90,0008 * 108 & * 122 10,800
T-ANLA-SH BHNG FMHARS
15,6919 953/ & * 122 17,888
D-ASNY MG SMAEE
9,3759 * 203 & * 122 2,250
QEFSI| AFEE 90,0008 * 30 * 128 3,240
OBANA MEA MEFH AEE
75,0002 * 15044 * 122 13,500
OZMHOIX SUSAtE Z 100,0002 * 122 1,200
O SLeE(CATV)=AIE  500,0008 * 122 6,000
Ol FJHARS(HE BA)
25,000 * 53| & * 12 1,500
OCEAEE FHARB (M, HA)
25,000 * 53| & * 12 1,500
OO BEA LG HAE2(AEE0ISE )
411,166.669 * 12 4,934
OTECHZ 38 S8 A2 (I, 43)
412,500 * 12 4,950
OSSHAIRAIAH 0|82
2,700,0008 * 122 32,400
OXNIEUNS SSHHAZSEH AEE
1,875 * 800CH * 12% 18,000
HE|p = 710,437 760,239 A49,802
= 30,874
< 12,192
2 667,371
HNAEY 29 406,409 641,803 A 235,394
= 9,754
2 396,655
HEAIAE HH SX 62,019 279,577 A217,558
201 LBt2 A 6,562 6,562 0
01 At 22l 2,100 2,100 0
O[get=&dl] 2,100




AN XXEH D
R -ERTEEES
ool Y 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SERFEEEENIEIIEIEEET
350,000& * 6CH 2,100
02 =224l 4,462 4,462 0
OIANEHH X 4,462
OSoNIALBI| BN
55,770,000& = 8% 4,462
202 04l 1,260 1,260 0
01 = LH o4 1l 1,260 1,260 0
O3SIIEtAIAE 22 =S
70,000 = 32! * 63l 1,260
403 MHXISHE X201 H 54,197 54,755 A 558
02 S| 2SO0l CHSHIH & A B 54,197 54,755 A 558
OSSIIEAI 28 RAUES(BSII82)
623,433,830& * 7% 43,641
OANZHYSEALE RANES(SSIIEH)
131,943,900& * 8% 10,556
d2A 22l 27,677 20,219 7,458
201 Let2d] 27,677 20,219 7,458
02 2324l 27,677 20,219 7,458
O[AM&EHI S XYl 27,677
OFNZM & =2 AlAE KRB+ 24,050
o otEAN 139,900,000& * 8% 11,192
o0 2AZEYN 128,577,480& * 10% 12,858
ORAXNDDAAE X4
40,300,000& = 9% 3,627
StIEX2EAAE 2F 15,360 15,360 0
201 £B-2dH| 15,360 15,360 0
02 =224l 15,360 15,360 0
O[AIE & BIRXIBI] 15,360
OSt=EXZ2IAAE SXE=
153,600,0002 * 10% 15,360
AEH 22 2l 243,318 243,318 0
201 LBt2H| 91,218 91,218 0
01 At 22l 49,546 49,546 0
Olget=&Hl] 49,546
OEXJIYUMM 7 1,000& = 20074 200
OFL 2UEH P (0IRAIEE)
15,000& = 10074 1,500
odtertiAa 120,000 * 274 3,240
O Eot0ls4l HZel 60,000& = 60M 3,600
O IPE=7JI 100,000& * 104 1,000
O giatE 12,000& = 1074 120
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2AM: XA D
R -ERTEEES
ool Y 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHIMAHEAZY O] 5,000& * 20 100
OmZel 40,000& * 2074 800
O IF (& 2300W) 38,000& = 7JH 266
OZgly ARHEEE 2 324,000& * 104 3,240
OR2ULH & =y HOIS(15M)
27,000& * 109H 270
ogg s/W2¢ 23,100
o I E &FCS3 599,250& * 204 11,985
o MS2 Il A 2007 222,300 = 504 11,115
O Bal S/W= ¢ 17,300& = 700H 12,110
02 3524l 41,672 41,672 0
O[AI &2 & HI Xl ] 41,672
O dAMFH RAE
1,111,100& * 720CH * 5% 40,000
OHAST B2 NAY SXBL
16,720,000& * 10% 1,672
405 XHo&HF S HI 152,100 152, 100 0
01 AL =S EF SHI 152,100 152, 100 0
O&AEH P2 152,100
O&EH 1,000,000& = 100CH 100,000
O LCDE LI E 250,000& = 68CH 17,000
O ZegH 742,500 * 40CH 29,700
O Et=3(PDA) 1,800,000& * 3CH 5,400
dara 29 17,594 17,594 0
201 LEt2AY| 17,594 17,594 0
01 AFR2t2l bl 16,320 16,320 0
Olgetsgdl] 14,520
OBHEHOEZ 2 25,200& * 1004 2,520
OANHE SIECAZT & HR2 F¢
3,000,000& = 4CH 12,000
Ol nsHl] 1,800
ONAH M3 DEHI 450,000& = 491 % 13| 1,800
02 =294l 1,274 1,274 0
O[AMEEHISAHl] 1,274
ogsesll RAE+ 17,692,500& * 7.2% 1,274
A7 HHEABAIAE S HH WA 24,840 50,063 N25,223
= 6,210
= 18,630
201 Bt A | 24,840 50,063 N25,223
= 6,210
= 18,630
01 AFR2 2t 2l Yl 24,840 50,063 N25,223




R PPN RSy

o FEIe RS
ool WHIE 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANZT HEFFBANAE “FFH WX
24,840,000& * 14 24,840
= 6,210
e 18,630
ANZ T Hol=S2AIAE 2= 15,601 15,672 AT
2 3,544
fia 12,057
201 Let24E] 15,601 15,672 AT
2 3,544
s 12,057
01 At 22l 15,601 15,672 AT
OANZ 7 MolS2AAE 2EAIS
15,601,000 * 14 15,601
= 3,544
e 12,057
e 32 29 304,028 118,436 185,592
= 21,120
< 12,192
s 270,716
dEsiE ZE2 g2 NsEY 54,864 65,272 A 10,408
= 21,120
< 12,192
s 21,552
307 glz2tol & 54,864 65,272 A 10,408
= 21,120
< 12,192
s 21,552
02 RIZHENEXS 54,864 65,272 A 10,408
OZzgzellt 84 X (4M0t2)
54,864,000& * 14 54,864
= 21,120
= 12,192
e 21,552
SHOIXl 22 233,334 33,334 200,000
201 ¢er24l 33,334 33,334 0
02 =224l 33,334 33,334 0
Ol2223LHAI 1,254
O SHOIX 23els 018&
55,000& = 12& 660
O EZHOIX ZHe olgxg  297,0008 = 23l 594
O[AMN&EHI R XYl 32,080
O EHOIX |RAL= 155,733,333& * 12% 18,688
OFEO AIAH |2 13,392
o (L4 L Yt MAH)
13,440,000& * 8% 1,076
o IPS 490,000 * 12 5,880
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SA KRSE D
Mo NS AAY (NALED)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 et A | 20,774 24,660 N 3,886
01 AFR2t2ldl 16,094 19,980 N 3,886
ORANESE S HH A 12,314,000& * 14 12,314
Ol2gdl] 3,780
ORANEE SHHA 7,0008 = 521 » 108 3,780
02 332494l 4,680 4,680 0
OlBZ222YHMAI 1,080
OYURZA M3l U LRI
90,000& * 12& 1,080
O[AMEEHISAdl] 3,600
O3l ¢&EEH =Xl
3,600,000& = 14l 3,600
202 04| 14,200 14,200 0
01 =2LH O HI 14,200 14,200 0
ORNEE SHH A 20,0003 = 501 x 142 14,200
203 € R =&Y| 3,000 3,000 0
04 2SI L RF=AH| 3,000 3,000 0
ORANEELERFAH| 250,000& * 12& 3,000
WEANIE I 2F | 19,905 22,117 N2,212
201 et A | 9,105 11,317 N2,212
01 AFR22t2ldl 8,448 10,660 N2,212
Olget=84l] 4,601
OFRNESE SHHA 4,601,000& * 14 4,601
Ol2&Hl] 3,847
OFRNESE SHHA 3,847,000& * 14 3,847
02 35244l 657 657 0
Ol2229LHAI] 657
OgRFA RELSZ 730& * 9000H 657
202 O B 10,800 10,800 0
01 2L Y| 10,800 10,800 0
SA2Y SHAN 20,0003 * 491 x 1352 10,800
SAEI 23| 12,582 13,980 A 1,398
201 Bt A | 6,162 7,560 A 1,398
01 AFR2 2t 2l Yl 6,162 7,560 A 1,398
Olget=gl] 2,382
OFRNESE SHHA 2,382,000& * 14 2,382
Ol2&Htl] 3,780
OFRNESE SHHA 7,000& * 621 = 90! 3,780
202 O B 6,420 6,420 0
01 2L Y| 6,420 6,420 0




2AM: XA D
M M2 AY| (XX A
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
OFRNSY SHAA 20,000& * 3921 = 107& 6,420
HAE D 23] 15,271 16,968 A 1,697
201 et 7,591 9,288 A 1,697
01 AP 2t 2] H| 7,591 9,288 A 1,697
Olger=24] 2,950
OFRNESYE SHHA 2,950,000 = 14! 2,950
O[2&Hl] 4,641
OBASY SHAHA 7,0008 = 32 « 221 4,641
202 04d| 7,680 7,680 0
01 2L I 7,680 7,680 0
OFNESY SHAA 20,0003 * 3921 % 128& 7,680




